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won@f eflemppren - 1/ Model Question Paper; 1'3}239;:”
Busiflerey @ysmnind B / Higher Se'condary ec
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(eyhddeod wppn SBPad / English and Tamil Version)

Quonds WHUGLEHEET : 90
Time Allowed : 15 min +3 Hs WWW.waytosuccess .U?"g‘““m marks : 9¢
ugd -1 / Partl
oass danssmeg el wsiss: 20x1=20
ii. Gal@ssiuiL pragsiaLsais Waah gouymLw milm_u._i]m
B5E0s0HE GRUL BLe aloLulmeanp Bsida TWDMD.

Note: (i) Answer all the questions.

(i) Choose the most suitable answer from the given four alternative and write the
option code with the corresponding answer

Guiwsd GuTReTTETSalsh Baum@Lir wig?
Sl) alsnaBsTrun@

B) omsny@snun

Identify the other name for Macro Economics
a) Price theory

¢) Market theory

o) el Ganiun®
%) meweniiwel Gamiun®

b) Income theory
d) Micro theory
FOHBHIUSH Bibeng wini?

&) 2 erbifis

1) LM, Sesierd @) snyed oniTdeTd F) LOTTap6D
Who is the father of socialism?
a) Adam Smith b) IM. Keynes ¢) Karl Marx d) Marshall
@;iimn;:ﬁ o LTI 2 SWIGE
o)) usaei o) GUBLOTENLD @) Oamfiso LI
Tertiary sector is also called as sector ¥ e
a) Service b) Income c) industrial

d) Production
Quigs sifiy s

a) C+H+G &) CHS+G+ (X-
Aggregate supply is equal to M) B CtS+T+ (X-M) #) CH+S+THRI
a) C+HI +G. b) C+ S#G(X-M) ) C+8+ T+(X-M) d) C+S + THRS

dexendeh EBSHEIIY, WHTNSSen G e
STEULEADS. TS Diepwilsh sighuL Geusmeoulaied
1) (e Couemsvsumuiiy .
; L . &) He g 3
Ao Ko ) ocionc) 5% e
O unem T i
a) Fully employment. ployment prevails in a capitalist economy?

b) Volun
¢) Involuntary unemployment. d) Undert:gpﬁjﬁg:“:)’mcnt

Hh
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10.

@eopautel ally algb

o) BTG GapbHeEh

@) Gruiumu ems@Gals@n
Lower interest rate are likely to
a) Decrease in consumption.

c) Encourage saving.

&) sLgIsETar GFsoamsl 2_iTHEHID
F) sLepsmuld GFsmaud SiBEfsGIn

b) Increase cost of borrowing
d) Increase borrowing and spending

LpaTgpid Sbpssst sAur SiELE HoupT sist SILHIS

1. synafl psiey BILLD edus QBLTEGIDGD BISTybsI sISOTGD
2. ggnafl GsBly HILLD seugl sumGorsndSben BaOiiLSEBmLCuwren siHETEID.
=) | wpmb 2 sfwureng

&) | whpb 2 Heupreng

@) 1 siwnsg yenst 2 SsunTargl

#) 1 Souprag sgere 2 sfwreig

State whether the following statements are true or false

i) APC-ratio of the consumption expenditure to income

ii) APS - ratio of their savings to income

a) both (i) and (ii) are true

b) both (i) and (ii) are false

c) (i) is true but (ii) is false

d) (i) is false but (ii) Is true

LsmelEmsEa QUIWE LWL bHelTas wi?
B) SLe GLBEDITHST &) SLET cuprhigs G

@) el whmud FbusTd GUDGsuTT F) SIT&
During inflation who are the gainers?
a) Debtors b) Creditors

¢} Wage and salary earners d) Government

S HT0SHH Gurmsiius BLaybsmssst Bsann BEEEW

o) 2 _WirESULFOTS &) BEBuorFors

&) Vs GenpbhsL_FONS #) s Bevey Heneoulled
During depression the land of economic activity becomes extremely

a) Maximum high b) Very bad

c) Very low d) Very good

g.p.6mb. (ATM) sisiugs alfieurdsin

&) sreflums usmib eupRGh GubsmD
2y ol Qg uembd auphiGD BUbHD
@) srentE UsmD QPERGW (WD

F) 6ifhE CEI(pd USND

Expansion of ATM

a) Analytic Teller Machine

b) Adjustment Teller Machine

¢) Automatic Teller machine

d) Any Time Money

SWeETL G Oegubs Hersoulsy o ehen dfu Sekssi
Si) ysoenn@ld GurmpLssit WG

&) UsvemETd uemilesii 0L G

8) o wipbd &

®) usmiL sumssfiLnd L Gib

€9



14.

16.

17.

www.waytosuccess.org

BOP includes

a) Visible items only

b) Invisible services only
c)aand b

d) Merchandise trade only

4 . sulg@j[@lb Qﬂﬂ[@u-lw
. Guafidevaic (BENELUX) sl @55 @ mg@mg,;;;ﬂ o

2) SOLWHD IHSEILGT F) &b

@) GuIEHIFHME .
BENELUX is a form of p) Economic Union
a) Free trade area d) Customs Union

¢) Common market
) ool 6160 2_HEUTETS

if-; .

. 199510 DieIgeh g & Res éﬁ%ﬁmw ) &g
o Y 2 et LA ssortothe ____— —
The WTO was established in 1995 as a succe ) ASEAN d) SAARC
a) BRICS b) GATT
GST @si@ Fwib panbmeugwai
) spuenereu #)s_é?lﬁﬂﬁl:- o
@) sumplonsusufl
E)SST; ]t:se‘?_:;\fa]ence of b) Corporation Tax
¢) Income tax d) Local tax

. dpsrahuapmst ag sfuren GempOpILT #er BEIBUGSS
i) memduduns BesEsWw ﬁnmmﬂas;uu@aﬂm@.
i) guPdsagaish &reoD 5eMEss o L
) 110G &) i G @) @yeiGo ) By i Builsbene)
Consider of the following statements and identify the ngI'Jt one
i) The finance communication is constituted by the president
iii) The tenure of finance commission is five years
a) (i) only b) (ii) only c) both d) None
“p_uSgrin” (biotic) seim euniGensullsh Gurmen asen?
&) o uiTeumpsuer ) 2 uighmensy
@) umUGLITsT #) GupGsmeien aigiayfsvemso.
The word biotic means environment
a) Living b) non-living
c) Physical d) none of the above

CanBobauulL SMBIGGL, SNJadHHbEGID BEH5 el ulean G o

S ProtseuTsd eflusmub unBius g, CopasGes:

smemb: Brotaansd uuinn, BesHe aemdgge ’ .

o)) Sppb, syempd sfwurens b unglluen. B

&) Smpnb, smenupen Fluneaigsis

®) sppaub, smjempn ST, &Tyemp i ) .

F) snBmefurengl, <umme STremin s..mgj‘:mmﬂlﬂ?ﬁﬁ ;‘?ﬁ'::;:l @mmmwgm-
LDELEY,
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For the given assertion and reason choose the correct answer
Assertion (A) : Polluted water is harmful for agriculture
Reason (R) : It self affect the crops and the soil fertility

a) Both A and R are correct

b) Both A and R are not correct

¢) Both A and R are true R is the correct explanation of A

d) A is correct by R is not suitable explanation of A

18. PP oCwrsdsht seearts GFusUEGLST

&) Ui 21) GLTSSSHe0auT
@) 2 salGRuIss S ) Wl oeminsan
The chairperson of by NITI Aayog is
a) Prime Minister b) President
¢) Vice president d) Finance Minister

19. QUTmETTSHIY susTitFHA m omalGEnE!.
a) 2 BusHSH Hmer eusniad 1) Guuwiyensy sumploTar sy
@) empusd By F)  @ensy s
Economic growth measuresthe
a) Growth up productivity b) Increase in normal income
¢) Increase in output d) None of the above

20. @peiLmbd Flewsv eflouJRsEHEETET HLBETTID
1) (WPpHsEens0 sileuy issir o) @gsHi_mD Hened QUHNTrIEST
@) GewelldiiLou' L sllemrissi #) Gargdsiu’ L eflsugrisst
Source of secondary data are
a) Primary data b) Secondary data
c) Published data d) Grouped data

ugg - 11/ Part-1I
98a@Id g lEMESEHSGD el wellids: 7x2=14
all@meet 3066 SLLMNIONE eleweiss Gien@ib.
Answer any 7 questions. Question no 30 is compulsory

21. "Qurgentsyd” edusE GuI@ST wWig?
What is meant by an ‘economy’?

22. PQLI eisugei efiflsunsbmid ohpnb 2 Ua@ISeT Wreneu?
Give the expansion of PQLI. Write its components

23. mETeFsnTy aemIsh seien?
What is consumption function?

4. Qurergll L upll AoEPiiy ey,
Write a brief note an Gold standard?

25. ounlls aMAEST SSLGMET CUMIWDISS
Define commercial Banks

26. usheIm' @ aunssllasgen Benwselsd gBHEID Bregensids @BiniGs
State any two merits of international trade?

71




27.

28.

29.

S@ID 91 elSTSEEHEGD
:‘:m fey 406@ SLLTUIDIES &
Answer any 7 questions. Question no

31.

32,

33.

35.

36.

37.

38

. 2 6IpT G, CeusipTLG1 UGS

. QurmenT STy

P 0 L O ST
o g6 P SBeng,
i gyt QuisH gesan> 8 2
2 @iy BrHSEbESE

" pEET G- ) .
;;?1; out any two ways in which IBRD !

tries
ends to member coun

sﬂmﬁuuw TEHILI G50 @IS l&uﬂlﬂ’
Specify the meaning of seed bal

o Lail OpILi SeiLBme ADyUDIES
Define correlation

sLevan BapUBHBS:
public debt?

ued - 1/ Part-TH

Differentiate internal and external

7 x3=
silanL wellidbs:-

QiﬂﬂLluﬁm&ﬁ Gsllﬂll'ﬂ@lb-
40is cgmpulsoﬂ'

FLSHHIUSHG GMDHDENE (S
Indicate the demerits of socialism ) .
I 1] m BOIGTT
QgnsimoiusmsHBDE. Zereiuaiadsdipeh Bl GuuiTer g
b gRbSsnsn IQHIE) . -
g\af?:? any ?\i differences between classism and Keynesianis
i Gsumull 5.
pesiiFmaLTen (WESE LHEW FNEHLILGED wpeess aBuapmp CapluBhal
Differentiate autonomous and induced investment.

i GILITL &.
. usmpdiyl ubPuGsbufig SIEIGpepuis FweILT ML D)

State Cambridge equations of value of money

usemL Gl Gurmsiwsder o_eieL SaHmaL! utmyaﬂ@ﬁ.
Describe the subject matter of international economics

aunelles OpIGDoN EHDIe e’
What are trade blocks?

QuUIgBSLOS HEDU GEDBBABIETS TEEDID WA (PDDHDETE DI
Mention any three method of redemption of public debt

BIOTHSETEN STTERIBISST Weney?
What are the causes of water pollution?

. Uaamd darmtsase Sl dosssdme srms

14, 22, 9, 15, 20, 17, 12, 11
Find the standard deviation of the following data
14, 22, 9, 15, 20, 17, 12, 1]

Gﬂm & ﬂ wa. 4 . P - .
Qg b s WehBenin i@
Distinguish between economic growth ang €conomig development

Q'-'"@ﬂllg,ng @m__@l’!
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ug®- 1V / Part- IV

SIMBHE OGN & EETpE @D allenL_iwistlds s eyb:-
Answer all the questions

41, @) Gufﬂﬂm'.i QurEsiweisn urlGushensosmy allaufss
a) Discuss the scope of microeconomics
(oIs05vE) (or)

SemsAED UsLBam (panmssmen alméms
timating the national income of a country

&) QH HILIgsT e wsimairenud
b) Explain the various method of es
42. i) susHile suhiadEsTilen

WPEHEDIL WD Syesiimb Bensoll usHilGemsT slloufldas
a) Elucidate the prima

ry and secondary functions of commercial banks

(Disbeogy) (or)
ailwsd slfufensn eusdTLL b apsolD allsnégs
aw of consumption function with diagram.

@) deenflsil [Ty Frimdsr o e

b) Explain Keynes psychological |
43. 21 Geusnsoulsisnioullsn ICagub wmha simssme siafibas
a) Describe any five types of unemployment

(oisvevg) (or)

) GurmenTBIT  SisnensuuTwsdsi
Clamamite.

b) Bring out the objectives and methodology of Econometrics,

. Sl)

usmhbaden Lsslsensn sisuflés
a)

explain the function of maney

(o1sb60) (or)
Usitemm B Lswnsl s fer VLS AT D X
Elucidate the objectives of IMF .

)
b)
45. o)

QY webAEHa (pwFOFmns BaETLuM ensn elleur s
a)

Discuss Adam Smith Theory of Absolute cost advantage
(Sisbengn) (or)
&) Gungi sufes sisOEnsUEMILISTsTId &
b) Explain the scope of public finance
46. o) PP WBws B CELBLTGHmET Qe QFiis
a) analysis the function of NITI analogue
(Disoevg) (or)
) Bl sieTeyd S EUTLE pepsamen sl snsgs
b) Explain the qualitative credit control

41. @) ypeieneneymet asim SHHHDMYD T CUNSUTBHsHeLD NS Es
a) Explain the concepts of externality and its classification '
(Sissogy) (or)

2) FLLBLgbg afme anphsmm abdamyhsayb. %
b) Bring out the arguments against planning.

“joins
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7 x5=35
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ugP
2[]3(1=2[|

shiny i Sempp SSTSSDESD aﬂﬂ-w‘::::b T P
o L - S &ele : gpueL .
il g:;;wmg‘;- ;;;a:!f]@*“ allanL el Wﬁﬂﬁ@m"’
(i) Answer all the questions.

tive and write the
n four alterna
(ii) Choose the most suitable answer

Note: from the give

i r
option code with the corresponding answe
; ffuigin
I Guflwed GuIMTHIND SIS Uﬂ’f;!‘) o
g? ME’E;W F) Quomd SRIEsH
QBT )
Macro economics is a study of by Firms
:; in:;;:;:l;zal d) aggregates

2. Spps eiLOUCL QUITEEIT BT S BT ALL@LL é:!Sngﬂrﬁ ﬂ:'r;.;?lm 2
J) Dﬁﬁ@ﬁgﬁ:ﬂ@ﬂ %) CuDSTEID DBBHID
The circular flow model that represents an open economy —
a) Two sector model b) three sec

¢) Four sector model d) All the above

3. s ofls ommelora Gsdw e aﬂ@[t,y aUmHADS!.
o) Sl S &) B_eIGImD
@) GQuTEIBIeHD ) ) aEaLisiems
The largest proportion of national income comes from
a) Private sector. b) Local sector
c) Public sector. ¢) None of the above

4. edeencyp Gpeen (ED)
o) Y= CH=0susfuIG= Geuensvaumiiiy
o) Y = CH+S =Ceuefl@
@) Y =1+ S=GauafiiG=Couaneoamisiy
#) Y = CHI=Cauemsvsumiiii
ED=,
a) Y =C + I= output. =Employment
b) Y=C+ 148 = output
¢) Y=1+S = output =employment
d) Y. C+1=employment
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e

@uHpeme hETa aliguy =

o) CUTHERIMe| / CLIESHEST|

o) GuonBHHISTe| [ Guomsseumeumi

@) BsTeueron / sumamd wimDn

F) Bubsrgmid b6

The MPC is equal to

a) Total spending / total consumption

b) Total consumption / total income

c) Change in consumption / change in income
d) None of the above

o b Quuips s Qaeful  esieuensy TRSEME  SIEILMS,
‘QumES anpEins.

D) auaeUTL &) Geuerilui®

@) w6 ) CnbsEChame
The multiplayer tells us how much output changes after a shift in

a) Income b) Output.

¢) Investment. d) Aggregate demand

M1 wpgb M2 sy Bpsfipph@ 1WWen Cuiumen silGswiraid

B) SighFvEd EGULILSET ) owmdufen STey seul|ESeT
@) suluilsn BFO0Y snsulissiT ) &STESULSRTID

The basic difference between M1 and M2 is
a) Post office department

¢) Saving deposits of banks

b) Time deposit of banks
d) Currency

MV-PT aighip  &wsiium’igsd, V stemugy
) suneiluHEeT Dienay

) usmgde FEnFGsusid

B) GrréslumisAas e

#) aumid] whph Sl LTSl
'V’ in MV= PT equation stands for

a) Volume of trade

b) Velocity of circulation of money

¢) Volume of transaction

d) Volume of bank and credit money

BLai 2 medsD adUSE GLImS
B) sLeH WPDID (PSTUSGLMESID
1) SN HeuTL)

Credit creation means

a) Multiplication of loans and advances
b) Revenue

¢) Expenditure

d) Debt
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4 sl dpid aEnUE
" E.;n? (@D ﬂ;s‘unmmug',gﬂmmmm g HenEmd
) el igaiFlHD
@) sibHuGFoTsuEH
7) suenindd) sldHd
Bank rate means B
a) Re-discounting first class securities
b) Interest rate
c¢) Exchange rate
d) Growth rate

19 o0& g

Ol
g ; el B
11 &ﬂMLD;BSI sureslles @wﬁ‘l;':; ?&Zﬁgwﬁﬁgﬁ aﬂLLEJLFfFWTz #) &lowng
o) SIHEWNS than that of 1mpo
F;a;c;urable trade means \r]i;uli Sc: exportaré —) more or less d) not more thy
a ore
Bursimsnsl 21§

12. smiyflento, ugtiflen, surenllE L=

Lt WIEmEY
gﬁ s}iaL:ﬂ?;ﬁ: giir Gersgmano (TRIPS) . mme
o) el snipE PHILE afaperpasit (

@) sr_ (GATT)

®) NAMA
relates to parent, copyrights, trade secrets ect.,
a) TRIPS

b) TRIMS

c) GATTS

d) NAMA

13. aufl, Epangpd GemmSmes: CETeILEl
B) SLLTWHSHEE0
@) afopiy eenIL o
The tax possesses the following characteristics
a) Compulsory
¢) Failure to pay is an offence

14. & Sreduamisd &g sflunen Bensm  Lishe

&) rgusodl SESTENLD
#) Cupsrgmd sinarHHID

b) no quid pro quo
d) All the above

&) swPener_sugey Gsenyh AL - | sumsumuyo, Gevepb &b
(5 swdoowin ae Gsaeph HLb | - | Osaeyd, amamyd swn
(@) emufl ey BFaap HLid - | SumAml), Q@ svsmausiiL sEsio
R) uppibGmp eel 0sakh HLLw | - | Gsway, asammw el o@sd

Which of the following in not correctly matched

['a) Balanced Budget - | Revenue equal to expenditure
b) Unbalanced Budget Revenue and ex; nditure are cqual
¢) Surplus Budget Revenue exceed ox cnditure
d) Deficit Budget

Expenditure exceeds revenue

15. £ 6o Gl LDWIDTHS0
S) Gsdwed wIpuTE
®) susfweALe0 WrpuUTE

__ seny @sﬂtm_uu@anm%'

&) Liheuss eme wrpun@G h
" Suprgpin a1 pin|Oshanev.

78

Global warming also refers to
a) Ecological change
c) atmosphere change

16.
o)) Fhengll CQUTL Sen
B) @rerdlb o whpw o
Environmental goods are
a) Market goods
c)bothaand b

b) climate change
d) none of the above

SODIFGIPN GUTTL ST sTsLsmey

&) FHmGUILTEUTHL &6t
#) Gubargnid sge)fme |

b) non-market goods
d) none of the above

17. GuIGbBLohpens BoHibeSESEMD
Cur@enTEy (WeTBarimsems Hismuls@n GUTEGTSTTS SMsRiEst s

B APRHEE D ([HEUTSEID
@) welld UEMHIEET
Pick the odd one out

o) shensUilsT DiEmey
F) BWbsns eusTmEei

The economic factors to determine economic development are

a) Capital formation
c¢) Human resources

b) Size of market
d) Natural resources

18. @pPwnelled DL by SMDEEIULL a6
) 1950 Q) 1951 @) 1947 F) 1948
Planning commission in India was set up in the year
a) 1950 b) 1951 c) 1947 d) 1948
19. 2 Lel OFHILTLECHW T 6 LAY abs somndcsT BmEdD
&) 0 whmiit ) -1 wipeh 0
®) -1 whpnbt+] #) 0.5 whmb+.5
The value of coefficient of correlation *r' lies between
a)0and 1 b)-1and 0
c)-1 and +1 d) -0.5 and +0.5
20. Gummentgny MUl aSLEG BHeT Genemiy
o) Gurmeilwsh wHpD ysiefuiwsd
Q) Gur@efiwsy whpd sesilsib
B) Gutesfwsd ssliEn LMD UstefuTwisd
F) Cubstgmie sgajissme.
Econometrics is the integration of
a) Economics and statistics
b) Economics and mathematics
¢) Economics mathematics and statistics
d) None of the above
ug®- 11/ Part- 11
- Brgib g dlanssmée aLwisseab: 7x2=14

oot eree 304@ SLLTWLG sheLwelss CaieN®d

~ Answer any 7 questions. Question no 30 is compulsory

21, “%wﬁmﬁgﬁm"mu.gf_uh AT
Define circular flow of income
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22

24.

25.

26.

27.

28,

29.

glapgb g aMMEEEHHES shilsmL el saLb:-

. e G0GBIE:

GNP st NNP @b @ Guushen m&lﬁﬂ“’
Write the relationship between GNP and
; " 1guIsdBE:
Goulsa efiguisi (Say’s Law) m@@frrmmm uLg
List out assumptions of “say’s Law

P = ; . L wmensu?
mEteyE anilsr wﬂm&_ BHHHIHD y sion?
What are the technical attributes of conception fune
UGS Bevbeemid AT S
Define money

sLal HGwrsl Ldiey eEIDIE greren’?
What is rationing of credit?

Qeeoteussfl omHm sisd SEIUSI wing!?
What is meant by exchange rate?

nesy upai‘r@ﬂlﬁjﬂ]ﬁmg CapiLGHHIE.

: Do GLngssT
e D oa and economic development

Distinguish between economic growth

“GugIHS” susmywImbSS
Define public finance

“Hmusply euFs aepTed sreiran’?
What is Buffer Stock Facility?

u@g) IT1/ Part- II
Tx3=1

el eled 406@ SLLMULTS eleLwelss Gousmi(BlD
Answer any 7 questions. Question no 40 is compulsory

3L

32

33.

35

36.

BOOUD QUIGTSTTHSIH adw BUBLBDT abHE @SS,
Enumerate the features of mixed economy

BpflunGand seunbsligs 2 66 o6 Ao sl el fessdsaen U QUeIES.
List out a few statistical problems in calculating national income

daeden pisiey Fbe o malus dAula smsgdsmen S,
State the prepositions of Keynes' psychological law of consumption

uen oefiinienen Fnonsflé@nd smeflas wirensy?
What are the determinants of money supply?

andulsoeon B seLlys®T Uil 4 ;
Give a brief note on NBFI 0 iy Hms.

GeusliBT.@ GBI WHALYE Chrdmtimmey ma:
State the objectives of Foreign Direct Invesnnegﬁ s

—

37.

38,

39.

Simabpelamssemsgd oL walssayb

@m@mmqmmujmsﬁai CunésnsmeT Snms.
What are objectives of economictrics

CUTGSTSEMT SHBSDFBRFGRMEGD 2_sTNBBHILNIMAHBESONS sws
Brief the linkage between economy and environment

QUEHLDBE & oDl enwsTeusummus Gl ?
How would you break the vicious circle of poverty.

wieh PAeiiysnmys,
Write a note on sinking fund.

umgd- 1V /Part- IV

7x5=35

Answer all the questions

41.

42.

43,

45,

o)
a)

b)

a)

BLagEmesaisa aigiumuls gm Guimsman senwoiy GausuBams alafss
Ilustrate the functioning of an economy based on its activities

(@60601) (or)
ADF wpmub ASF-&@i0 @enLuisorer soflsnsosnl susnTuLD apeold silsuflss.
Narrate the equilibrium between ADF and ASF with diagram.

Gadlu sumauml semeBligs 2 sien gBpaib wbal Arohisaen slmbos.

Explain any five difficulties involved in the measurement of national income
(isveug) (or)

msiey &rifish swssiyeanissmen alsnbsaD

Briefly explain the subjective factors of consumption function

“ellsmennyg Cuemen” elifleunen efnésn Hms.
Explain ' Effective Demand’ in detail

(sisueogy) (or)
FiTd-6i FTHmenSamen sieufihss
Describe the achievements of SAARC

@irediin’. apapfen UsmoETG BHICU gear sfondass.

Illustrate Fishers Quantity Theory of Money

: _ (sideog)) (or)

Ueraumd slagrsafaiobs Y Be X wpmb X ba Yodwusionsd seaufs

Y: 45 48
X: 25 10

50 55
35 30

65 70 75 72 80 85
40 50 45 55 60 65

Find the regression equation You X and X on Y for the following data

Y: 45 48
X: 25 30

50 55 65 70 75 72 80 85
35 30 40 50 45 55 60 65

vemsiwsy Gamsiensulsn geogib mba Cpréstiseen elendms.

Explain any five objectives of monetary policy

(oisvs0g1) (or)
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47.

: ellené
. @ & B EDET
o) Pobs aEmisAden padugpd vppd SB% OB L o

d ot and its
b) Bring out the importance of sustainable developmé

. &) ows anduls uefsmer GesiauBHHI®

idate the functions of World Bank
a) Elucidate the f— {:.;r} P P
&) sesnah HlLpPe o sien UDADS ”FW %
b) Describe the various types of deficit in budge

si) PLLBLaSs gBpgud mhm awasemen eiafiss
a) Describe any five types of planning

(oisvevgl) (or)
&) UST.G aunenilshBe BETMLOBEEN alln&GS
b) Explain the gains from international trade.

wrBf ellewmsgiet - 11 / Model Question Paper - I11-2019-20
CwsdPeney @yswimbd sye@ / Higher Secondary Second Year
Gurmpefiusy / Economics
(eyasoon wppbd HBlpand / English and Tamil Version)

Hne0 Sieney: 15 BWALBissit + 3uoeefl
Time Allowed : 15 min + 3 Hrs
ug® -1 / Part-l
@iy i smaby elanbsasmseh sl wsids: 20x1=20
ii. OQer@ésiulL preg sl mefied 10&6D s)ml.;ml_u.l sllenL_ufisnen
SamOsBie MUl B sllmLenud BFrEE srapsaib.
NOTE: (i) Answer all the questions,
(i) Choose the most suitable answer from the given four alternative and
write the option code with the corresponding answer

L waormissnugoms Jauppn e

21 paguwir o) DiGuoflsesr 8) Ribsuwr #) dem
The country following capitalism is
a) Russia b) America c) India d) China

2. o mudgdl emefuls Crmeller sugtusniulsorer NNP
B) Bsflw aumeunL E W) o GMENH sumLOTsND
@) seon sumLoTEmD F) FLOUISTID
Net National product at factor cost is also known as
a) National income b) Domestic income

¢) Per capita income d) Salary

3. Bl supaumsnu AUD UGHSTEL FHeoneumHIOTEID SHLSWsOmD
D) 2_jusd ) BILE whHEen QHTans
&) GFsay ®) GNP

Per capita income is obtained by dividing the National income by

a) production b) Population of a country
c) Expenditure d) GNP

4. omEnwiystr Gasmeuulsisniol e Buwison
S BWsrspsTuD
B) Qurish sapsmutb
Structural unemployment is a feature in a
a) Static society
¢) Dynamic society

) FOSIOF(PGHMLID
¥) Seoiyl GuimenTgmyib

b) Socialist society
d) Mixed economy

5. J1BGs gm
9)) YHWOHTsHmwGUTmeTiLIsoTsi
@) melewGurmefwsomsnir
J.Bsayisa
a) Neo classical economist
¢) Modemn economist

) OFnsemeQurmefiwsorent
#) yAwGurmsttuseorsnir

b) Classical economist
d) New economist
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y oy ; @gs)ub.
6. Bpsraruappst shuTamsaHICGLS CgpBBHET

. B0 presesdoLuions e

A [APC | (@)D Sﬂ:“f

B |MPC |(i)S/Y

C |APS [Gii)CrY

D |MPS [(ivACAY
GiuIBssit: .
o) A-(iii) B-(ii) C-(iv) D-()
) A-i)) B-(i) C-(i) D-(iv)
@ A-(iii) B-(iv) C-Gl) D-()

®) A-(ii) B-(iii) C-(iv) D-(i)

WWW.waytosuccess.org

: iven below
Match the following and choose the correct answer by using code g1V

A [APC |(@ASAY

B |MPC |(ii)S/Y

[c [APS [dGEi)CrY |
D ImpS [Gvacay |
Codes:
a) A-(iii) B~(i}) C-(iv) D-(i)
b) A-(ii) B-(ii) C-(i) D-(iv)
c) A-(iii)y B-(iv) C-(ii) D-(i)
d) A-(ii) B-(iii) C-({iv) D-(i)

uem sy Hally wHiys Gmpsianal JOLBSHSHINS
S) Sagb usmeldsh &) pLE@n  usisissD
B @b usmaissw F) 2 Wi vemeissLd

a serious depreciation of the value of money in the result of __

a) Creeping Inflation b) Walking Inflation
¢) Running Inflation d) Hyper Inflation
usmislds eldsb, GoNbE CFdazs sl

o) adir usmelbsn &) Usmeun Lib @) CpEmalsmb
Decrease in the rate of inflation is

a) Disinflation b) Deflation ¢) Stagflation

smDWsIRIE, BT IgaR

oif :
&) ussmeile) e

&) Bfufuisd
Central Bank is authority of any cﬂm)w BALBIBRMI
a) Monetary b) Fiscal
c) Wage

d) National income
BUTE aumidl, CBmmisiu L g

8) gremey 1962 ) grae 1971
NABARD was set up in

&) grasy 1087
a) July 1962

b) July 1972 ¢) July 1983
o) Geuell ansflsn o

B) wa_eorsEnssfen Gwiwiter anerflmin ) 260 SuTemfl g1

82

) LDhSHD

d) Depression

d) July 1992

12.

13.

14.

17.

Trade between two countries is known as trade

a) External b) Internal
¢) Inter-regional d) Home
GUBHSD

GausfBTLG weeSlLnsnisenst GeuefGuppiEng
&) Sl sLsH
#) SeilmT  euqsuTLl

o) GursibsLe
@) QungeubsuTl

Large are driving out foreign invertors
a) Public debt b) private debt
¢) Public revenue d) private revenue

SpsanaiLabDst a5 GUIGSSHLTE Fensm SEED

) usienm (B usmmH &b sauradiisi D.C
o1) 2_aEaTHES DLy Gepafaur

@) enté SEmoly sy

#) Uifderd ROTEIBMUI

Which of the following is not correctly method

a) IMF Washington D C

b) WTO Geneva

c) SAARC Singapore

d) BRICS. Shangai

BeRiLGT60 SLGT supRIGD BF BEsuenn

o) es sukidl o) uerem @Gl usmigunb
) 2 _EaTHSS DEMIDIN] #)  Ufiderd

The organisation which provides long term loan is

a) World Bank b) International monetary fund
c¢) World trade organisation. d) BRICS

Bpsremusbmst selunm Al usiysals @snnsEs

i) QUEBLTEND B GFssy Fwib &) Bgsdflund

@) apuissHs gn usHmu Galdsan  F) almouyiu@Haiss
One of the following is NOT a feature of private finance

a) Balancing of income and expenditure b) Secrecy

c¢) Saving a part of income d) Publicity

sumauml G#eusy (Revenue Expenditure), sumsumin sujensusf (Revenue Receipts) sifiswns
BEESHID, DS

S UIHEUTL LD EEGEmD ) B0 unpTEGSD

8) sugeyGiFsvey UDPTSSDD F)  SuglusnLl UhpTSEHenm

Revenue expenditure is more than that of revenue receipts is called

a) Revenue deficit b) Fiscal deficit

b) Budget deficit d) Primary deficit

sriush Cuenrdemsnd B GaTGuPa s@sunssiienu Causug

o) Gonl LT sumseNrISsiT Q) GEmfsd BewpunGssh
@) Pemwns afGurgst sfidsn smelsst &) Cuhsrgub sigBsomen.
The major contributor of carbon monoxide is

a) Automobile

b) Industrial process
¢) Stationary fuel combustion

d) None of the above
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s : T F A
18, SLigssIEEn AL GousuBHE rﬁ'g] el ) Te3uwr
&) Uymeierd o) ‘G[ermﬂﬁ - sl b
The country which adopts indicative planning i ) Russia
a) France b) Germany c) ltaly .
5 LoMBEBLOTELD
19. WL HSNE0 SHrLfLedsi SigluaL sHHS EEWU?(T "——-,-‘—""' ®) & Lanig
; o) H# ) BeuenreRTENLO 2 ;;s to bring changes j,
The basic philosophy behind long term planning t
: d} Stru
economy. c
a) Finan);ial b) Agricultural c) Industrial tura]
20, QUTEHSTTETT SiEEEUUIWIEISHTEN apelBUTE®ET ) . - _
a)"i.?hﬂ%}mgwmb ;‘i) QUITEL BT @) ysefufuled ) BaHign
ial ics are . .
;[‘}hg :aw materials of Ecor‘;t})rglo =L o) Statistics d) Mathematig

ug- 11/ Part-11

gBseb llamEsEHESD sl wefibas:- _ 7x2=[4
e ael 306@ sLLTWLIE elsLwsiss GrusmiGID

Answer any 7 questions. Question no 30 is compulsory

2. BoEmp CUTGTTETSHE, agard all §rLsmbd EhsED AMIULSEMS aDE.
Draw the diagram for circular flow of income in a two sector economy

22. WBES - uapLpEE
Define accelerator

23, pays Geusmevuisenioulen (pHEw Gwsdy wrg?
What is the main feature of rural unemployment.

24. 1. srdsiusmd 2. premwrsst - Bevawnred GaafulLuGEDgI.
Who issues (i) currency notes? (ii) coins?

25. evwwarm@Awes slauFursLar aprEh sopus usiemms GRIGs.
Mention the function of agricultural credit department of Central Bank

26. QUITHIFHMS - SUDMTWDIES
Define common market

27. GWslwed eTeImTED ereian?
What is meant by ecosystem

28. Bur@EMTET) (WPaIBHmmD s WUSEES
Define economic development

29. yemefulweds suemsss wisneu?
What are the kinds of statistics?

3. Bk PP Cenpps siBUE & .
List out the official reserve assets of a mun‘:;mmm LlyWelEs,

84

ugg-I11 / Part- 111

gBs@b g@ SATSEMES elamLeiss:
Sear oo 406@ &LLmuors eleLwealés BGeuemBLD

Answer any 7 questions. Question no 40 is compulsory

31. Grevapep upl Apedly 65
Give a short notes on expenditure method

32, Bensl GQuBSE - elmsgs
State the concept of super multiplier

33, GENECHme DT 66T HIHE SnDIHEET FnDid..
What do you mean by aggregate demand? mention its component.

34, Gpeney - @uoUy LoD Ggevey - 2 HEl usmaléadme alens&Gs
Explain Demand-pull and Cost-push inflation

35. welnjl LSwE GETsTenEaL, Dol uswd Gensimsleinbs CapubHss
Distinguish cheap money policy dear money policy

36, wipenm usnonbm sipsPar QUITMST SHhb.
Write a brief note on flexible exchange rate

37. ysirefuwsder vswfae wreneu?
What are their functions of statistics?

38, eaufluflsh gBSEID APSHIQILIGHIL|SENEILTIS
State any three characteristics of taxation

39. @@L‘Jw'sn;rs:-
1. QeueLTLEs HrLfed 2. Semolyupens HLBLD
White a note on (i) functional planning (ii) Structural planning

40. surerfled GemiiysmL wpSeS_Baud (pemasi (TRIMS) - sniliysem)s.
Give a brief account on TRIMS

ugd- IV/PART-1V

omabE slamssamesn L welsanb:
Answer all the questions

41. @) sorsisseubd WwHED Fopseud pewabian Busdysenen QUUIBS.
a) Compare the features of capitalism and socialism
~ (swdeog) (or)
&) QurgenizTy ield ses saTsABENIS oadfubmg clafss
b) Discuss the importance of social accounting in economic analysis

42. &) PIAGHDHPY CUIBSTETTSHD AUGLIN ALl lLsfma aeJu Sl slabes

a) Draw and explain that circular flow of income in a four sector economy

(oisveog) (or)

7 x3=21

7x5=35



43,

45.

46.

47.

b GaieNl STEIBMET g,
o B GO
&) B wIsLEEOE shevsneysen WHHIP &@u@ﬁl water pollution ey

; 0

b) Explain the effects and remedial measures to € Mumﬁwm@ mLuj
Opreiepnds  Gmriut®  oppib S B UTH burq
CapuiBsmsn ailsndes.

. d Keyn¢
Explain the difference between classical theory a0 e

i)

a)

s theory

(swsosog) (or)
LWbsE Burgb assdma eiafss
Explain the operation of the accelerator

ueTsiGBSHDEI SMyetisme almeGH.
Explain the causes of inflation om) (00
( StV B! 4 UMk NS SHS
I @efila Umﬁm
_igeit G 1y oL’ igsd suesf@euridlseTa
glr:c?;’:te th"cg:;:reﬁoz' commetcial banks in cconomic development of a country (any five

points)

gilein Comes BsTiun pmer syl GFLD
Analyse briefly the comparative cost Theory

(sisvevgl) (or) i e
) BpPu Fws - QuigssTy GobUT S LAsTL.R.9 (WTO) -6t utislenen sfloungls
b) Discuss the role of WTO in India’s socio-economic development

E=)]
a)

Hfé Osrensnawiss smellssn sameu? sﬁm&a:ges
State and explain the instruments of fiscal policy
(isvsogl) (or)

Sl)
a)
a) SOy suenys:-

I. ume Hensy LMHEWD

3. Bwhens USHEEN (PsHm
Write a note on

(i) Climate change

(ii) Acid rain

(iii) Organic farming

(iv) Global warming

2. ouflsv wenp
4, uall GeuluLCwionssd
b)

SLL L gbsnen aHymen anghisamen SIbHEI0] SEayb
Bring out the arrangement against planning

(@asbeng) (or)
yshefullwelsh @wesdy wHpb seamssmu alent s,
Elucidate the nature and scope of statistics.

a)

b)

7]
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wrHfl efl@mbsnsit - IV / Model Question Paper — [V-2019-20
GustPlenso @ysminmb sye® / Higher Secondary Second Year
Gurmefwed / Economics
(@il whmmo HBipsud / English and Tamil Version)

160 Sieney: 15 HBLrissit + Iaxdl
Time Allowed : 15 min + 3 Hrs

GTHs WwHLCUsHSST : 90
Maximum marks : 90

uad -1 / Part-1

eily: i. ooass alanssmEgh sHmiwelss:- 20x1=20

ii. GeMGdsLULL prig sioLseion Bsap gHumLW eleLulmen CHbABBHE!
S GLar aleswwyn Carbameapsaib.

(i) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternative and
write the option code with the corresponding answer

Note:

1. Bes@s wiffidsd o o sepsamas @iibgs.
ai) SOLURSEHD FDisysnmtimsmLD ) S whmn Gurgs
&) 2 MpiE wimd Ceuelpmd ) Boieueriss whon o5
Identify the sector of a two sector model
a) Households and firms

b) Private and Public
c) Internal and external

d) firms and government

2. go QUIGHTET oEwwil STamiuGos
o) 2 [BusHIHaenn
@) sussHEEns
An economy consists of
a) Production sector
¢) Government sector

) pETabEmD
F) Cuhsiapnd DisHanSHsIn

b) Consumption sector
d) all the above

3. 9o prige sgnef eugomenb STETUG
&) FSMBUT sumHLOTEID
8) usmslés alpb
The average income of a country is
a) personal income

) HEOT QUIHLOTEILD
#) GFevall &Somigw sumwrend

b) Percapita income

c) Inflation rate d) Disposable income
4. Spsreuappst sluraens Gmull Gk CabOsGHm agsay.
A) | 2 _jusd wenm i) Qunggenm
B) | Geeosy_gpenp ii) Grevallen (psom
| C) | sumronen cupsmm iii) syefisstt Fwurdeon
| D) | PQLI iv) S9SG WD

o) A-(ii), B-(i), C-(iv), D-(iii)
&) A-(iv), B- (i), C-(iii), D- (i)
@ A-(iii), B-(iv), C-(ii), D-(i)
#) A-(i), B-(ii), C-(iv), D-(iii)
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jven below
i code gwen
er by using
Match the following and choose that correct ansW
ic welfare
A) | Product method i) Econ{:m::l:b"n 3
B) | Expenditure method | 11 ?:‘iwr caming method
ethod m
(r? II:'C;TC = iv) Inventory metho

i i _(iv), D-(iii)
a) A-(ii), B-(i), C ({‘-_’), X
b) A-(iv), B-(ii), C- (1&1}. D- (}]
¢) A- (iii), B-(iv), C- (_'u], D- (1)
d) A- (). B-(ii), C-(iv), D-(ii) e
sameulLTs: Garsiamss@l udeone eirsndest o Ul
o) os Smeoulgensno
o) o FF ST sensouls 1w -
@) Fev Hipsoseiisd wnfebHe H
%) sefunibmen smeouls ) .
Keynes theory pusucs to re;rlace laissez faire by
a) No government intervention
b) Maximum intervention o
c) State intervention in certain situation
d) Private sector intervention

Smenas Cooma, BHHE WD

5,5 supELTUl
o) GsFlu sumemL &) W e

sl
@) smewll sugmeuT ) BEJ NG
Efective Clemand equals to .
i i h) Gross income
a) National income >
¢) Factor income d) Net income
Gumsdule Wl
o)1 ) 1 ay_l
1-MPC MPS MPC
The multiples is calculated as
a) 1 by 1 ¢ 1
iI-MPC MPS MPC
on HopaeiouiL GuIGETESHD @néGws), Qunsduls wHsnu
o)) GIPSHDH a) » wibgBpg
gl 7). LomhiD
In an open economy import _____ the value of the multiplier
a) Reduces B Incregies
¢) Does not change d) Change

slleneoaundl Guogiauts o wmbd Gurg,
&) STayd usmelbHED

@) e wh uenslbsh

When price rise slowly, we call it

a) Galloping. Inflation

c) Hyper inflation

OIE SIMPEEILGoug.
&) Bgionen Letelssn
) Lsmeun’ b

b) Mild inflation
d) Inflation

88

F) St b4

d)Both (a)and®

13.

14.

15,

16.

. aubiEd SLET esTug)

Si) BLE UeD

@) sL& wREIL psiusmIbD
Bank credit refer to

a) Bank loans

&) (psiiuesid
F) @sLeil Gumssn

b) Advances
c) Bank loans and advances d) Borrowings
. @pFw srdar ama s SRS ELILGG!
o) eOBLL Umis 0 Bi@wn &) puIiE
8) md.mdg #) @hAwfaist s
The banker to the Government of India
a) SBI b) NABARD
¢} ICICI

d) RBI

. ghpiwgl Pamb asug

o) gpmwd X @négwd
@) gbpwed - Bpsood
Net export equals

a) Export x Import

c) Export - Import

<) gbpwgd + BpsEH
#) usmiisen gomosd W G

b) Export + Import
d) Export Services only

QuIES wWppms BEEOsELsPes:
Banesnol Guimelue Buysmiselsn uRnssfiuuTs usiem G0 Gurmeafwuedist
um OEUITEET  sulpEUEDOESSUILL L HI.
&) ayLbeos

@) J.Sdsd

Pick the Odd one Out

“ The subject Malta of international Economics was shaped by classical econofnics”

&) CansGsi-galsi

F) Lrdls

a) Adam Smith b) Heckscher — Ohlin
¢) I.S.Mill. d) Taussing

#iply siGuyfsnwsaiis wHGmIm Guwir

Bl) HT6T FHRSD &) UBISETIeyS6T

@) geit elpiu gHpISHmLEs ) eg@nfisbaney

The other name for Special Drawing Rights is

a) Paper gold b) quotas

¢) Voluntary Export restrictions d) None of these

uppTEGmD PAUTSESAE opLuDL CETSES0TaZ

3 Oungemmgsny psihBaniph Q) GuigsttsTy Heneodseenin
B) QuImETST] F&HIAUD #) Gameamily o mansg s
Primary purpose of deficit financing is
a) Economic development

b) Economic Stability
¢) Economic equality

d) Employment generation
wesmonseliiE (WHed Pensodstyaub

o) Yrdeow s EUUEHEID BLagbensssi
) B Gubun@

@) alesmu Peomussh sufwrs UMLBEEHIGL WwempBr
¥) Bretwen g_grissh

a9




17.

18)

19.

Primary causes of soil pollution is

a) Pest control measures

b) Land reclamation

¢) Water through Agricultural lands runoff
d) Chemical fertilizers W
& pfufsiLig, SR )
SeflLOLGESBBbE Buieh apmouls posb SPHF - _
gengunatea Bmbalspe, g Oaneiled 56 @wm"mﬂ 2_siteng.
o) Gy Gonarsta L_snsmgl &) @iﬂ] Db %

@) Hpaiss ous @ E)eg that poor nations remain poor because
The Supply side of vicious circle of poverty sugbg) o remains low

a) Saving remains low ) Both (2) and (b)

¢) There is lack of effective government
Csis0UL s aifbeb, sTaEBIED 555 SPLUDIE gﬂm
FofliQi= APEOBE LEED, QUIGETET (PHGMDDSDS et
snysilsseflsd L .
STID:- ‘?G\gmsb EIUsfey, GUTMEITSIT (o CPoHHD pireuis@n GG Sy
smns SMaMsaisd GEMIEGL”.
&) Febpib, Sl Fiwurensl; SNEWD Fn
1) SwPEId, BTGP FAUTSIS; KT STyeILD
@) spm sfwureng; Qemsd STJEND SHDBISE
F) SnBD SEUDTEE; QLA ST aiflirarg
For the given assertion and reason, choose the correct answer _
Assertion (A): Capital formation is one of the economic determinants of economi
development
Reason (B); Technical know-how is one of the non-economic determinants of economic
development
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true and R is not the correct explanation of A
c) A is true and R is false
d) A is false and R is true

pfiguenLw &fwren sllenESLTEGD.
spfigpenw Fhwrer sleTéswse

Cacisllbsne apsod ysitel elleumd @l L Uulemsh @i

o)) e Poe allugd &) Bredmb Fleney slleugid
B GauefulLiGuBD sllsuyd ) Gangasiul L sfleurib
The data collected by questionnaires are
a) Primary data b) Secondary data
c) Published data d) Grouped data
Y=2-02X aoled, Y @55 Gall___ aym.
o) 02 &) 2
&) o %) Guopmngud simengpgib
If Y=2-0.2 X, then the value of Y interest is equal to g
a)-0.2, b)2
c)0.2X d) All the above

9% &

. ugg- I/ Part- 11
gBaaud 94 Fﬂmﬂﬁ&@e&.@b allenL_wsfes:-
oiem o1eil 306@ SLLmuoTs el wefiss BausH@b
Answer any 7 questions. Question no 30 is compulsory

21. Gufiwsd GuTGafWwsish Ressembd FHE
Define macro economics

22. @m1E Seflder Smssit wieneu?
What are the components of aggregate supply

23, GFA0Y BETLLD eshiprsd esiten?
What do you mean by propensity to save?

24. "Lwsmit sr@sTena” @GO umISs
Write a note on traveler’s cheque

25. “usienm_(® susdiiE”- aueny alvdsaRd HMmS.
Define international trade

26. 2 605 aBAE GUUEms ULRLEIfs
List the groups of world Bank

27. “ysw sglusL aufey™- GFsoeys Sl Gily susHrs
Write a short note on zero based budget.

28. GOOIFGIPED SIETUSET GUTHET FnTis.
State the meaning of environment,

29. Qur@enTETTS S eler susnTeleobsamid sTHEMS.
Define economic planning.

30. upprEmenn MAgsED, LenEE5HADG afagsAng. Bumlbsab.
Deficit financing leads to inflation — justify.
ug@-111 / Part- I1I
98agmib gap elsmesmEsd amweiss:
eilem eren 40b@ s LnUbrselen welidsGnemBbd

Answer any 7 questions. Question no 40 is compulsory

3L waansiggab wHgDh e mssgab - CapubhHes.
Differentiate capitalism and globalism

32. OprElasmea aspTs) OHEHT SIHET FIBMEIS FnDis
What do you mean by aggregate demand? Mention its components.
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7 x2=14

7 x3=21
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33.

35.

36.

37.

38.

39.

www.waytosuccess.org

C=

il

45°
X
SUHLOTELD

Guhergmid UL GHEsD . )
) pisiey aussnBsnE gl ‘Y’._gaé]'e&ogﬁ@l G Bie> 08!
L) 45° Baml s (phBWSBHAID SR

4
C=

e

E: c
2

=]

z

(@]

O 45°

_’.. X
INCOME
In the above given diagram

L. Why does the consumption curre start from Y axis?
1I. What is the significance of the 45° line?

. usm iy siemTsy eTslien?

What is money supply?

amefiug GETEULN Homwieh, swabG Begipe Hoosgh @mi ulsme
CaupunBasnsn UL iguielGs.
List out the difference between balance of trade and balance of payments,

el Goues PRusBe sid apieh ks g8pgub wemomes GHUIGE

Mention any 3 lending programs of IMF

(PHSTEOWD UDDTEEHSND sTeimned asien?
What is primary deficit?

QuImsTEn FFme DIFNGHWPDIE QU s )
. . EEG"
Specify the meaning of of material balance pﬁncipiﬂuj@s.

HH lunddlen usilssi wrsns?
What are the function of NITI Aayog?

A GB0Y eusms:-
i) ubpsILenL
il) sLa DILamL

82

Write a short note on
(i) Debit card (i) Credit card

ugd- TV /Part- IV

onaHEl SONSSMEGD sl weflss:- 7x5=35
Answer all the questions
4. o) wasemaissiab, Fopssub fuabliE HEIOSET UGS
a) Compare the features of capitalism and socialism
(siosug)) (or)
o) @bPwieis absduis uslismen cllaflss (9Csaub LSS
b) Describe the functions of Reserve Bank of India (any ten)
42, o) Gurmenigty yisle FapsbosombSBHele swflugms eardss
a) Discus the importance of social accounting in economic analysis
(@isbevg1) (or)
&) e 6THILEG anmissshe, usem areiagdnan BsnLulsoret BeougunBaemeT
Gleueil b GB TS,
b) Bring out the differences between internal trade and international trade
43, &) Gra1 smsngslPuimms Hpamnie) Qs
a) Critically explain Say's Law of Market.
(oiebe0gi) (or)
&) @hHusaps — DuTETSENT GUIDLTLIRS (WTO) £_s08 aiishss Sl unslmst

il suma .
b) Discuss the role of WTO in India Socio Economic development

4. o) CUrssEEI.E 2 BusHuisd onrdlwsien RHE sumSLITE (pgeusnLbeH QuUETHL a6

opmnb usklasnenl Ll GO0 HH.

a) Give an account of the five types of of final goods and services included in GNP

(@isveug) (or)

&) Usteumd slofisapse, dgionailssiull syreflulsdmha, AL alusssHaman
EBIT I,
43, 48, 65, 57, 31, 60, 37, 48, 78, 59

b) Calculate the standard deviation for the following data from assumed mean
43, 48, 65, 57, 31, 60, 37, 48, 78, 59

45, o) wesasda AuHdon o pusASAnEGD (MEC)upsseilyst BmiFBansn
e_husdsdngsan (MED) e en Capur@mst wrensu?
a) what are the differences between MEC and MEI?
(isve0gl) (or)
&) wappsafseia Hamwem CouelsCenamis.
b) Bring out the merits of indirect taxes.

46. &) asfla HphAuls vaBap sLLmSDM elsufids
a) Describe the phases of trade cycle
(os0a0m) (or)
Q) Lopp oWnG oumb GIPT aMTEAUIE phBuSHD WHDID DB
Crrastisenen elandGs.
b) Explain the importance of sustainable development and its goals
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FroTBED aungempT> STBE STESDe
DT *

47. o) Qurgsnrsny (PECAHBSMSD .
omic developmen

aflaun FlbmaL. )
a) discuss the economic determinants of econ
(ambso@i) (01']

- &GS
1) ysishufwiefisy @weL| WOHELE sre})w_nsu&msﬂ
b) Elucidate nature and scope of statistics

4. p_gugBisiefuier, NNP-ullsit wgiy

wrdfl ellemggrsit - V / Model Question Paper —-V-2019-20
GuwsbFlensy @yewiLmb syei® / Higher Secondary Second Year
Gurmeflwsd / Economics
(gymisdlson wHow sfipsufl / English and Tamil Version)

Frs0 oeney: 15 BPUOLMEsT + Jwewf
Time Allowed : 15 min+ 3 Hrs

Qords wHubusisst : 90
Maximum marks : 90
ugd -1 / Part-l

@iy i. oeabn alenssmegh ellmlwsfissa)b:- 20x1=20
il. QCEMBsEEILLL praig eloLaeis WBaab ghysLw sien uieer CHTEEBBHS!
SO GLs almLewud GsisE QSND.
Note: (i) Answer all the questions.
(ii) Choose the most suitable answer from the given four alternative and
write the option code with the corresponding answer

1. Qum@mennsnys Cunanenasaia Dadlubamss GHiIGa.
&) siguusLl UrFsmeasensn Brlugsl
o) HELSemET (WPrilugliug
@) suenTEFdlenl iDL eI
#) Guhargmib SEDEmHELD
Identify the necessity of economic policies
a) to solve the basic problems
b) To overcome the obstacles
c) to achieve growth
d) all the above

2. i melen mEsselwsy GurmenTsrSSsr Shens J.M Ssiery  Hysurir.
il. melar Gufiwst GurrsnTErrsAsh Zhens J.M Saerd Leum,
@) 1 wpgo i Ffwurens
<) 1 whpb i Heupreng
@) i eflwreng seansd i Heaumrengl
#) | samtem gemed il slwreang,

(i) .M Keynes is the father of modem microeconomics
(ii) I.M Keynes is the father of modern macro economics
a) Both (i) and (ii) are true

b) Both (i) and (ii) are flase

¢) (i) is true and (ii) are flase

d) (i) is flase but (ii) is true

3. 9m BIigsi Grwew, Bsflwamand RUNGSDE.

o) GHTHs0 &) slsusmub @) Gurmentyd F) DI&TeY
National income is a measure of the performance of an economy
a) Industrial b) Agriculture c¢) Economic d) Consumption

61601 almp&i&»ﬂu@ﬂm@.
o) FHens ellasoulsd NNP
®) HEOT SUBLONENID

o)) snpenl Qasvelisn NNP
@) sl Gaselso GNP
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9.

- LseL Baunerfish, 2 s 6 suredfls

The value of NNP at production point is called W narket cost
a) NNP at factor cost d) Per capita income
c) GNP at factor cost

& mmmﬁ@ siaug!

Beumsommiinis L OpTeenLaEHTLUTL ggmal NP
o) GODHEEsH slmee el &) ’f’,fl )
@) omsmty oif t'” Be
The core of the dassical theory of cmploymentis __——-— 4
a) Law of diminishing return b) Law OE CD:;:mpﬁon
¢) Law of markets d) Law 0
Eaeden GETUTE sopenmy anfupSHuS:
o) U5 eodu smeb 5 GHAL STED
@) U5 foIL St F) PRl &meuD .
Keynes theory emphasized on equilibrium
a) Very short run b) Short run
¢) Very long run d) Long run
Fynaf [ESTey BTLLD SsuwssOubaug
) C &) CxY a Y
Y C
The average propensity to consume is measured by-----—-
a) C b) CxY o X
Y 4 '
om Gun@mmg’sﬁm ahsaosUIaD UTHssTs UsmalssD
5) BLEGD 1) @B @) sab
The mﬂ:_man which is in no way effect an economy is
a) Walking b) Running c) Creeping - -
QU SRS aaug
o) B8 Pmsusid &) L BULR i
B on Gpnfhsme e
i #) Goenen Fmusuemb
a) Financial institution b)C
2 orporate
¢) An industry d) Service institution
. UeRaliWED CHTEIMBL  SulysHSIO LIS h
5) ol Gmey kBB '
B) e ?a:m'ﬁ AUmEseh
Monetary policy is formulated by ABILG aurticisen
a) Co-operative banks b)C g
c) Central bank ommercial banks
d) Foreign bank

o) suellsbsl GUUIEEsT PheRehe Sapu.4 Enyemi
&) 2_puppssmeRs - BLb Quuy B

8) sydfien Gmisims BamuiBmsn d o

%) BUDEIGDID HIEPabEID

“

7 C+Y

dy C+Y

F) STeyb

d) Galloping

P

14,

International trade differs from domestic trade because of
a) Tradc restrictions

b) Immuobility of factors

¢) Different government polices

d) All the above

@réGod, gpprdow s afsons Sonssmn DpoaEL afssis
aip FMNGFULD.

o) GRISHHTEONMUIS HMHDHHE

o) gopwd aflow osigsfhHs

@) gppwdse sasswalsse

#) BpsGLHsE 2ms50l%HH60

If there is an imbalance in the trade balance (more imports than exports) it can be e replied by

a) decreasing customs duties
b) increasing export duties
¢) stimulating exports

d) stimulating imports

. UeHenTL Bl usBHuD Spssi. @b IHTLIgs £ GanssiulLEl

o) UTemEBH LoMhTH

&) JepLLsialed winiE

International monetary fund was an outcome of
a) Pandung conference

c) Brelton Woods conference

&) Fiaslyi wIETE
#) GznamT WMETE

b) singapore conference
d) Doha conference

Uw Gubum G ekl @S SiENOULL 6T GaHTLTLSILWIEI

o) Uifdsro Q) LUsiyg g9 @) Fnis ®) ufwmen
New development Bank is associated with i

a) BRICS b) WTO c) SAARC d) ASEAN

uBDTEGME auye| - OFaa HLLD asiuGes GuTBSTIIE

o) orda GFaeaall, Sgfsh aumemnl HFSD

&) opde BLULE SBEGEFUs), BLULSMSES aibuTeHwaiL SiF S0
@) sy GULIEHECEN, GTSHBATLATIL HBHSD

) Gupsngpid eFeisme

Deficit budget means _

a) An excess of governments revenue over expenditure

b) An excess of govemnments current expenditure over its current revenue
¢) An excess of governments total expenditure over its total revenue

d) None of above

. oisn oyfelfisen (pHEEHIOGESITSID

&) 17 GalGh Gemdsd o) Buipens s snfiey

@) Peogemg FUILGHSIHD %) Hlulatiufers FSLOLBHHIF
One of the following is a main cause for deforestion

a) Timber harvesting b) Natural afforestation

¢) Soil stabilization d) Climate statilization

. Guigdmiophpens SEIbGHEHS! SUPHKS.

e Hheedt s sl
o) angiu 1wrsBHs
@) (a0 fHsd

TR IWE) TV E
#) PelIsULGH
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Pick the Odd one Out )
Type of pollution b) Indoor pol]ultlol'l 26. cﬂwu{ﬂﬂﬂﬁﬁ J8s@Ib Brend Crissrmmend GBS
a) Air pollution d) Noise pollution Mention any two objective of ASEAN

c) Water pollution
27, Quugl SUGSITW eemIsh ersiisn?

18. @AwsTH HLHHS BHCATG Gt ) ELOUUTLOL BHEGD HLb State the meaning of Public revenue
o) SLGULGSED B 3 sgpfupn B : . ; .
@) spsd AL 28, o auEHHN i@ senald sareflus amma GssiiGuBmD mrr_@&'ﬁﬂ Wirsne
Short term plan is also known as b) De-controlling plan Mention the countries where per capita Carbon-di-oxide emission the highest in the world
a) controlling plan ling plan
¢) Rolling plan d) De-rolliog P 29. PLBDO| ASHLHDD AUDTL?
. Define regression
19. gl el a6 EoHHMT Wpele LwsUEEHUOT i Buoek ) STedL gy
.9;1) Byl L e .m)d |§1u.|'rra=di @ oo 20. &hwnﬁmug‘;l FLLISL 60 sTemmsy ereaen?
The term regression was used by What is totalitarianism
a) Newton 4 b) Person c) Spearman d) Galton

" g1l / Part- 11T
20. Epangpd Bmemssis agEfuns CUIGSHIULBENS!

gep@ID G alamssEhsEGD il wefss: 7 x3=21

S |2 L6 @iy i. P.C. e sllgan o1l 406@ SLLMULTS eleLiusfes GaustiBn
& | melen ysiafuflwisd i, gréei.iflad Answer any 7 questions. Question no 40 is compulsory
QUImETTET SieTensuiwed | iii, g fwige

# | @l Gmey iv. (yneidlerd STeL6H 31, Gufiwsd Guir@msTIBIIHHE (PSSubHnsmed HHE

State the importance of macro economics

Which of the following i 1 tched
U coTReE 32. pefipul auGLTED Beaai dmgw aiGLIED sisSwWTFILGSEIS.

Differentiate personal and disposable income

a) | Correlation i. P.C. Mahalanobis
b)} g[ odemmesmta.nst:cs o R;grllar ithach 33. J.B Gaulein silgwsh eflseneyssmani Lpifld @HUUsI]S.
: conometics 11, 5ar: peaison : Write a short note on the implications of say’s law
d) | Regression iv. Francis Galton
34. Jeelpsssdar Saeniosmil allms s
Explain the nature of recession
ug@- 11/ Part-11
8D y . . 35. mumiigst (NABARD) uswilesht wnensu?
el @WE.EWLD allen_wefsas:- 7x2=14 Specify the functions of NABARD
ellam el 306@ sLLnuos aloLwsiéEs Cami@b.
Answer any 7 questions. Question no 30 is compulsory 36. URNETUY QUUBSID sTammed sieien?

— i What is Multilateral Agreement?
21. &J}f;@s_‘nﬂ:ﬂ‘ﬂm srou;um Gumsit wig?
at is the mean by an economy? 37. aufielgidsn sidmemen elenbas
2. “8ph "8 Describe the canons of taxation
: weugam” - BebEeHD S pis
Define national income 38. @pdwnelsy QuimemmsTs SHCLULeSs uflsuno susnidflenw wHITGE.
23. Gpiae : Trace out the evaluation of economic planning in India
- poulel UGHSMET (2 1 :
List?ul the compor?fls of Ag(gfcgawmsm; du"m""ﬂ@" 39, PLEpa0 uglunislel LLHSEMEN Jamis
24, USRLITHD eew Mention the uses of Registration Analysis
. USSHLIDTHI 6IeAmTs0 aTamem?
What is barter ? 40, yos pegulysd GFLY SieNs.
i Write a note on the ‘Lungs of the Earth’
25. "slLel D mETESD AILS wig?
What is credit Creation?
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g~ v/ Part-TV

smappianssamemhd slalweiss: ! Sy
Answer all the questions
4l. o) pPLelgsmsss sighumLuis §E GUIGBETST Sy QewsoLBouens Sluflgy,
a) Illustrate the functioning of an economy based on its activIties

(sieveo) (01) : y
&) ADF uiipib ASF-bg B uieonsr swpemamy simpuLb aeod eleouf
b) Narrate the equilibrium between ADF and ASF with diagram

42. @) Bpflu apanls wasduspmpns siafss
a) Explain the importance of National Income
(sis060g1) (or)
o) misTastnis ssssmedsmen almsss
b) Briefly explain the subjective factors of consumption funetion

4. o) @ireld. Iagfler uemameps Can Uil oo lasGs
a) Illustrate Fishers Quanlity Theory of Money
. (@1sbevg)) (or) i
«) usnonhp elpb asisuny GemulésiuGang adUmD 2 STTEISEILE aleigs
b) How is the rate of exchange determined ? Illustrate

44, o) sL& DieTayd: g@ﬂunr;@ wopsma almbsgs
a) Explain the quantitative (or) General Method of Credit Control
(snebsug) (or
&) 2 6% surislullsi uenfisenan Gmaﬂs@mrmfl; )
b) Bring out the functions of World Bank

45. o) ogfe QFNEET DIEHMWSDETGDE oPsNbss siramiss:
& &I SBISETT ? i
a) What are the reasons for the recent in public Expeudimren‘]?IExplain ]
_ (2baug) (o) o
&) ,ﬁt_r_u_ﬂt_eﬂsﬁl ge5EID WMbHI aImEsDT sleuflEs
b) Describe any five types of planning ;
46. o) ynelemensyseir s SHSADMYD 1565 i | -
; 56 susnas(] i ;
a) Explain the concepts of externality and jts c!assiﬁca;-ilggmmum e
- ) ) (150808 (or .
) usner_ﬂms\iarr Bwsby wpmb ssosmemmer mgm; &
b) Elucidate the nature and scope statistics %

47. &) CQumsAuls sussssiT WHOWD sfaysa L
- o i
a) Give an account of the c]assiﬁcaﬁal:u:;:d Icﬁie? fﬁ:’l ?'.“;!f&i-
= ultiplier,
) (Bisvsy, ’
) OauefiBr G 8pyy apmedigai mﬂiﬂ)m&fﬁ}n (:ﬁlan'
b) Explain the advantages of FDI e

Qal.anils an g, M.A.,M.Phil
ysisas sifligr Afs
95775589!%0 =g

wrHfl ellemgsrsit - VI / Model Question Paper ~VI-2019-20
Buepensd @yewimb syei® / Higher Secondary Second Year
Gurmefwey / Economics
(gyadleod wppd FHipend / English and Tamil Version)

Qe wHNCUskSsT : 90

sre0 owney 15 BIfLRisst + e
Maximum marks : 90

Time Allowed : 15 min + 3 Hrs
ug® I/ Part-I

sfly: i. Somba donésmsgh almLwetss: 20x1=20
ii. CEIBdsLLLL prag eloLsdis Bsap ghysLw sl ulmer BETHOEBSHS!
GO BLen sallsnienwwb BslighE sTApHaYLD.
Note: (i) Answer all the questions.
(ii) Choose the most suitable answer from the given four alternative and

write the option code with the correspending answer

1. Gurmeflwsd UL e Aensnss
o) GenhE HpD B
@) Goemau LHED Sy
The branches of the subject Economics are
a) Wealth and welfare

¢) Demand and supply
gseflwri whmbd ops GsiHH CuUTEGSTTEHN BLangsmauisy FBUGL GUTmSITSNT Siswlsnu
esALIGD usD

o) WoeorefSgial CUISTTSITD

&) FoHGH0 QUTESTTSITD

£) emasLWEHES GUIESITSTILD

F) &eolly GLn@enmGryD

An economic system where the economic activities of a nation are done both by the Private
and public together is termed as -

a) Capitalistic Economy

b) Socialistic Economy

c) Globalistic Economy

d) Mixed Economy

&) 2 HusbH WHDID HISTEY
7) Eemewfiwed wip Gufiwsd

b) Production and consumption
d) Micro and macro

3. (ppmwGHOD aeTLE
o) CEmpinsTansy
&) sisuFmub

&) eflwruryo
F) sl SLEFH0

Primary Sector is

a) Industry b) Trade

c) Agriculture d) Construction
4. NNP-wiedmpg Qouefpn®s smelosis Bar aGLisn SP&SIUCLTN dDLb6D
. &) G@FevaiL Samigul QIIBLOTEND

o) Gurss Bsfu e HuHd

B) P&y o emIlG e-Husd #) SefpUT aughLTEID
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t value is
NNP, the né!
When net factor income from abroad is dﬂd"cwi)ﬁnori‘;pwable [ncome
a) Gress National Product d) peﬁona_[ Tncome
c) Net Domestic Product . il T

Gouemeonmiiiy whHgh aimeum LBHW 5“% Qpr@eioU

o) GETEEsame s gpAF@D y&fmq‘sﬁi@ul-l
@) eflmansyh Bpemey ) fEmployme“t and Income 18
The basic concept used in Keynes Theory © b) Aggregate Supply
a) Aggregate demand d) Marginal Propensity to consume,
¢) Effective demand
: R e
Eeeden BmSHSULY, (WeesE, MEC gub — %ﬁ{?a?ﬂ
&) Gamsnau <) " el
@) sumeumd o F) El-ll&"i__ﬁm
According to keynes, investment function 18 MEC and-
a) demand b) Supply_
¢) Income d) rate of intrest
Besil GumSS aep EnHmS (PSP LETUB SIS
s) LR aafésio &) R-G‘-D&W
8) snen ) Saiierd
The term super multiplier was first introduced by
a) J.R Hicks b) R.G.D.Allen
c) Kahn d) Keynes
Coomalbssdsn, Lmass adspaLda QombAnlus

o) Babsb &) Gruensveumii)
@) sapusbgl ") silameo
Stagflation combines the rate of inflation with .
a) Stagnation b) employment

c) output d) price

GaE1BESILLL SBIihéED, SMasSheh sehs oLulme Baibosdhs.
G : QUIGLasi WD Lsfisma, Uemiotep wHlILMeN GwIENE!.
SIeND : SSHU CUTGLEsT wHpd usfissis wHlimu U soasd
silemeowns GeusfuGHETE!
=) Fnﬁ?mllb» anemigpn sMUTEE; &b apiamiy sfwmgr e HLOTEID.
&) ambpwd, sEd sfutmg; e o sofgem i sfuter elarasoae.
B) snip HUBTTEH; SLBMED STTERID afwneng
#) enBp Flwmengl; Sisamsd &igemib BHoUDTeNg;
For the given assertion and reason choose the correct answer
Assertion (A) : Money measures the value of goods and servic
Reason (R) : The prices of all goods and services are not ex -
a) Both A and R are true but R is the correct explanation of zrcssed ABEY oty

b) Both A and R are true but R is not the i
c) A is flase but R is true sk explanation of A

d) A is true but R is flase

Sl) sHow skl

2_[DD [BesLsH sT6p uslenus Qefullmw
®) Meveusn sumtidlmsn

%) ﬂfﬁﬁﬂeﬁ Gutiad
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Lender of the last resort is one of the functions of

a) Central Bank b) Commercial Bank
¢) Land development banks d) Co-operative banks
1. om BMgs sureniu sl ———- eyl EHUSGASmEH

12.

13.

14,

15.

&) Quimst gBpieg, BpéGws ailSsn

&) Bpéswd af adsn

@) gipwd aime, Gnégrs sl aldsb
#) & wppw 8

Trade ratio of a country show

a) Ratio of goods exported and imported

b) Ratio of import duties

¢) Ratio of prices of exports and imports

d) Both (a) and (c)

Spareiuenal, FAUT DFME SADT 66N H(QHIS ) _

(i) usieTLGU QuIGsTETHAS BB B5ny WHei6 WaBW UBG RSB
(ii) ustenm_ @ amexflasp, GaeflpTi® Enig 3B GHGEAL GBHTL LML WImEL.
@) (1) whond (i) sfwrerg

o) (1) whpo (i) Souprag

@) () sflurensd suemsd (i) SHeuprens

%) (i) seouprens oemed (i) sfurergi.

State whether the statements are true or flase.

(i) FDI is an important factor in a global economy

(ii) FDI and foreign trade are closely related

a) Both (i) and (ii) are true

b) Both (i) and (ii) are false

¢) (i) is true but (ii) is false

d) (i) is false but (i) is true

aflunsll senoly Poeiutl emE

=) 1965 o) 1967 @) 1972 &) 1997
ASEAN was setupin

a) 1965 _b) 1967 c) 1972 d) 1997
f&erd @isnolidsn gag e FHompi( Cmransisrsiursalsy

(Omenr syniflser) gravs 2018-60 HeLGUDEI.

) UbSTEH! &) mbHTeUB! @) sprag ) apsmireugbl
The BRICS summit was held in July 2018 at Johannes burg

a) Tenth b) Fifth c) Sixth d) Third

palan ows eenluGas
o) et SIP&
@) moud Gugpd DT&
The modern state is

a) Laissez-faire state

b) Welfare state

) Gl LB o senaiisshien D&
F) Sneued D&

b) Aristrocratic state
d) Police state

auend @eipr eusniTé i eistamsiamams sew alHESEHURHHSGD S6D

&) 2020 &) 2025 @ 2030 &) 2050

Sustainable Development Goals and targets are to be achieved by

a) 2020 b) 2025 ¢) 2030 d) 2050
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17, @ipedld Gﬁmu% eersrr Gl Apw LUBH ) ﬂﬁﬁﬁfﬂi‘#" 25. “GuAlBE ush” - ApgBiy sy,
g)} g&ﬁ“ﬁ% m“;” F) GioGerore Write a brief note on Crypto Currency
Ecosystem is the smallest unit of ———— b) Lithosphere 26. usIT GO GuImEAWE FemTSL Seiar?
ag g)'msihem d) Mesosphere What is international Economics?
c) Biosphere
= R e 2 27. smLWwIn anailal ugAHulst Gurmsi wrg?
18. g?g;ﬁfﬂfngﬁ?ﬁngm@ mg, EBABIEETOS gL sd State the meaning of free trade area
. e : EnAsEe) .
@) peistes SLible W 28, Crprpsalbd BIeid o sIemhSsT HHE.

Perspective plan is also known as Give two examples for direct tax
a) Short term plan

c) Long term plan

b) Midium term plan

e above
d) None ot 29. 2 606 OEILULWLTSHN asiLSET suen LTI

. = s A Define global warmin
19. “ysireMulwsd aien sfleugrumensmin Ll LIQSELD vwein 66 &S5 96 A Lgs $

e mﬂu{m _ . v el 30. 2_msubh Sl LI eaeipTed asien?
g')) mﬂ; Qe foror ?{Eﬂg‘_ o What is physical planning?
oy ug@-111/ Part- 111
“Statistics is a science of estimates and probabilities” given by &4
S W R.A-Hisher FBE@ID G Sambsamsch SoLuMssa- 7x2=14
©) Ya-Lun-Chou d) Boddington- allean eie®r 406@ slLmuwonrs sfleweldss GeusdBid.

Answer any 7 questions. Question No 40 is Compulso
20. GuIsHBLHNMS CTEEBEHEMD: FhE pulsory

o L& _Qﬁrn_maﬁr glmaaaei_r ) ) 3l. (pearaisaassar fAnidlomm afoslubsas

&) GEroanp B_LeW Gbm—rfu &) seflu 2 Lar @Friny List out the major merits of capitalism

@] gHioaB o L GBIy F) alL o Lel Gemiy

Pick the Odd one_Dut 32. Gxflu sumsunll sensdGEedsc BHpenpds SesSH_GU JjFemanss Hiay slsuen?
Types _D_f correlation What is the solution to the problem of double counting in the estimation of national income?
a) Positive correlation b) Simple correlation iy

b) Negative correlation d) Circular cortelation 33, Oprg Ssflamu asmiuLD sl almbes

Explain about aggregate supply with a diagram

34, seiefFemaunsn (WHeSE wBpD HTe_OUGED WG Sfushen CapuGHsis.
ugg- I/ Part- 11 P Differentiate autonomous and induced investment.

950 9 danss@mesd ol wsss- . 35 usw elbaEber s UDD SoHIS
olan oo 306 SLLMUOIE slmweiés Busi@, Write the types of inflation

Answer any 7 questions. Question No 30 i!Cnmpulsory %, GewefipriG Goy o565 oL G sl
. BT g e HEDDESHU LUl

2L Quigemapy wrBfule Brssmb sms List the sectors in which FDI is not permitted

Define Economic model
37. gfwnsr gmwoilsn Fremasmanl uLRWsiBs

2. Cxfu aupannl smSB G0 SLELT a5 ; Mention the achievements of ASEAN. 4

Why is self-consumption difficult in meagurins - 20085 SGAnE"? X
. N easuring national income? 38. pelen opden usssst wisa?

© pte Cavsnevaumiing” — suenguigy What are the functions of a modern state?

Define full employment

. i 39. @-m\fassh asuBa QUIMST BHS
2%. ‘psiey sy’ seapisd aeien? State the meaning e-waste i

What is consumption function? s
K ' 40, eiluptiyshafuiugs@n, e ubpemiey ysisfulugs@ o sien CaugunGsst wieney?

[ Differentiate Descriptive statistics and inferential statistics.
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ugg- IV /Part- b
7 X5=35

Dbl alansseméed o welssan:-

Answer all the questions

41,

42,

43

45.

46,

i}

a)

o4,

-

. . far @ueoysa@m 9UIGE
wpTeGEaNb oHgD FnHEMID %‘ﬂ“f“@ﬁm G
Compare the features of capitalism and socialism
(DisLsv!) (or)

GuissTisTy Wsilabmh wiph GesfpiiE EHIP
o conomic development

M‘;ﬂﬂ_mﬁ}@tﬁ BenL Buwusigy

b) Explain the relationship between FDI and e
. L ) s i GBS OIETBEGE
o) Bpfuaimanl soubsigs s gEEEIL Ebgngnﬂt of National income.
a) Explain any five difficulties involved in the Tca)sm
(oiebeogs) (0r) ; Gt
) Gurss G e LbBEEs, SpEGED HEHIED BELBLLIE BN Mimsy
Qeueils Gsremiis : .

b) Bring out the relationship betwwn GDP growth and the quality of environment

o) sL HAM0S BLELILE opsmel uifs GBiiy amrs.

a) Give an account of the Qualitative method of credit control

(oisbsugl) (or)
«) @pHuneld HLALQEEG QBT SHHHISSMET alena@ s
b) Explain the favourable cases for planning in india.
. &) Bamauwlsisnwulsr glsmib mbe amssmen alafss
a) Describe any five types of unemployment
(Sisveogs) (or) _

&) Jaeumd elarmsambseg srisw Swisala glipastspalomar semps.
Qurmsiish Csmeu X 23 [27 [28 |29 |30 [31[33]35 [36 [39
Ourmefien efbuensn Y [ 18 |22 [23 |24 [25 [26]|28[29 |30 |32

b) Calculate the karl Pearson’s correlation Co-efficient for the following Date.
Demand of Product X 23 127 (28 [29 [30 [31 [33 [35 |36 |39
Sale of Product Y 18 122 123 [24 [25 [26 |28 |29 |30 |32

o) Gupdsl Buhgh clssAmen alsuf

a) Illustrate the working of a multiplier

(=sbsug) (or)

Q) GilysusrsE: i &ms il Ifsed

b) Write a note on (i) SAARC (ii) BRICS

3) giLnld PPuller Caretsnssensn alsma g

a) Explain the principles of Federal finance

(o050 (or)
&) usmmalwed Catsiensuier g8smyb b5 Chrdmn
b) Describe any five objectives of monetary pgl?cf& AR slonsGe
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47. S gguﬂ@gma&@ SHITEN UTHEBDN ABHEENTSEMD
a) Bring out the arguments against planning

o (isbsoz)) (or)
) umsﬁ:s&gagﬂmasrm SRS aleufl
b) Explain the causes of inflation.
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